BB40EFERETILIOKRE ESE—DE

#m .~ 5A148(H) -58198(%) ~ 58218(RH)

g 2| K £ 7ok 14 > r—%4)L | HDCP Tk g
BE [BX EX 38 42 80 10.8 69.2 @)
2EH LN #= 41 38 79 9.6 69.4 O

3 |HHE\E Bz 53 48 101 31.2 69.8 @)

4 |EIR FRX 44 44 88 18.0 700 O

5 (Al =E 38 41 79 8.4 70.6 O

6 |FEM Rk 50 41 91 20.4 70.6

7 |lud & 45 44 89 18.0 71.0 O

8 |[HLE & 43 45 88 16.8 71.2

9 |AW B& 44 43 87 15.6 71.4

10 |IRE FEX 53 51 104 32.4 716| O
11 |ffik EZ 38 36 74 2.4 71.6

12 |ZH F 39 34 73 1.2 71.8

13 |Eif FEtH 50 52 102 30.0 72.0

14 2K E#& 41 36 77 438 722

15 | FlE 36 40 76 36 72.4

16 |BE EMR 44 38 82 9.6 72.4

17 |=8 FE 45 43 88 15.6 72.4

18 |[E] F8RE 38 37 75 24 726

19 |FBIl FE 43 38 81 8.4 72.6

20 |#aE F0Al 53 40 93 20.4 726 @)
21 |¥A FE 40 40 80 7.2 72.8

22 |RE fiF 44 42 86 13.2 72.8

23 |F ERE 37 37 74 1.2 72.8

24 |[ER: Hia 45 40 85 12.0 73.0

25 gl 38 41 79 6.0 73.0

26 |ElF 1E3X 45 45 920 16.8 73.2

27 (U 50 52 102 288 732

28 |HiE BC 47 43 90 16.8 73.2

29 |MMEH BX 41 37 78 48 73.2
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30 |XRE IEF 45 51 96 228 732
31 |Ek B 37 40 77 36 73.4
32 |#) ZF3h 51 50 101 27.6 73.4
33 |E 43 40 83 9.6 73.4
34 |#&lR A 40 37 77 36 73.4
3B |=H EXF 42 41 83 9.6 73.4
3% |AJIl &= 40 42 82 8.4 73.6
37 |ZIR BEF 51 49 100 26.4 73.6
38 |EFH EA 44 44 88 14.4 736
39 |[BF BEF 41 41 82 8.4 73.6
40 |=E4E IR 43 44 87 13.2 73.8
41 |HEE E= 45 36 81 7.2 73.8
42 |[ZFF & 46 46 92 18.0 74.0
43 |5HE EH*% 42 44 86 12.0 74.0
4 |HE —F& 44 48 92 18.0 74.0
45 |AXK FH 49 43 92 18.0 74.0
46 |BEAR & 46 45 91 16.8 74.2
47 | K¥E EX 38 40 78 3.6 74.4
48 |dbIR =R 43 41 84 9.6 74.4
49 |F B2 46 50 96 21.6 74.4
50 |#&A B 49 41 90 15.6 74.4
51 |/ Sz 47 49 96 21.6 74.4
52 |&®EK B 43 47 90 15.6 74.4
53 |HFA RTE 42 42 84 9.6 74.4
54 |E+E K 53 49 102 27.6 74.4
5, |EH B— 43 40 83 8.4 74.6
56 | FOEK 41 42 83 8.4 74.6
57 |=K B& 44 51 95 20.4 74.6
58 |iRE EA 44 39 83 8.4 74.6
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59 |/MNE EE 49 45 94 19.2 74.8
60 |FFK 3IREA 38 38 76 1.2 74.8
61 |[REF =L 57 49 106 31.2 74.8
62 | BEA 43 39 82 7.2 74.8
63 |HFA TR 41 40 81 6.0 75.0
64 | Bz 47 40 87 12.0 75.0
65 |BEMR & 50 49 99 24.0 75.0
66 |imix 13 43 38 81 6.0 75.0
67 |BR FL 45 42 87 12.0 75.0
68 |EE =it 43 38 81 6.0 75.0
69 |EHH FE# 46 41 87 12.0 75.0
70 [RRIL KAL 45 42 87 12.0 75.0
N |EE = 51 47 98 22.8 75.2
72 |FO HX 46 40 86 10.8 75.2
13 A5 FE 43 43 86 10.8 75.2
74 |SH HIE 48 44 92 16.8 75.2
75 | EA 39 41 80 48 75.2
76 |BERE IEAT 48 50 98 22.8 75.2
77 |BEE =17 45 40 85 9.6 75.4
78 (Bl 5 42 43 85 9.6 75.4
79 |[E &8 42 43 85 9.6 75.4
80 |&H F 44 41 85 9.6 75.4
81 |&EEE 2— 45 40 85 9.6 75.4
82 |HIU IEH 50 53 103 276 75.4
83 |=i#E M| 42 43 85 9.6 75.4
84 |#REE Rz 50 53 103 27.6 75.4
85 |LEAt =% 56 59 115 39.6 75.4
86 (M= MEZR 43 47 90 14.4 75.6
87 |KR EZH 46 44 90 14.4 75.6
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88 |BrE & 41 43 84 8.4 75.6
89 |FME Ih 43 40 83 7.2 75.8
90 |BEiF E= 45 44 89 13.2 75.8
91 |FHxk EHX 45 44 89 13.2 75.8
92 |BA BEX 40 37 77 1.2 75.8
93 |TrRE =0 47 41 88 12.0 76.0
94 |FIL A 40 42 82 6.0 76.0
95 [HZ IiF 46 42 88 12.0 76.0
96 |/ EBERE 48 46 94 18.0 76.0
97 =ik FA 50 49 99 22.8 76.2
98 |IRE EE 46 47 93 16.8 76.2
99 |BEAR £ 49 50 99 22.8 76.2
100 |BH A 47 45 92 15.6 76.4
101 |hA & 51 53 104 27.6 76.4
102 |=| #H— 44 47 91 14.4 76.6
103 |ARHEII it 44 41 85 8.4 76.6
104 |h#t =F 47 44 91 14.4 76.6
105 |FAK EfE 45 46 91 14.4 76.6
106 |XH &— 45 45 90 13.2 76.8
107 | T E7 43 41 84 7.2 76.8
108 {2 HIFF 49 47 96 19.2 76.8
109 |+JIl EF 50 52 102 25.2 76.8
10 [EX ZEA 51 51 102 25.2 76.8
111 |KHE FIH 56 57 113 36.0 77.0
12 |hfE &E 51 50 101 24.0 77.0
113 |BIR #WH 48 41 89 12.0 77.0
114 [IlUA IEE 45 44 89 12.0 77.0
115 |IUA E=H 46 42 88 10.8 77.2
116 |dL& 51 55 106 28.8 77.2
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117 |(FEl BIE 48 46 94 16.8 77.2
18 (B H/A 48 46 94 16.8 77.2
19 [£H —Z 44 50 94 16.8 77.2
120 [;EEy 2§89 49 45 94 16.8 77.2
121 (=31 #%ER 46 41 87 9.6 77.4
122 |BHH —{Z 43 38 81 3.6 77.4
123 |&% = 42 51 93 15.6 77.4
124 |RE Foim 48 45 93 15.6 77.4
125 |HH %£F 47 45 92 14.4 7.6
126 | K;I AR 49 49 98 20.4 77.6
127 |00 &HiE 53 51 104 26.4 77.6
128 [BEN & 46 46 92 14.4 77.6
129 |F1H BX 44 47 91 13.2 77.8
130 |FHBE Ko 52 45 97 19.2 77.8
131 |[FEH E 45 45 90 12.0 78.0
132 [T =& 48 48 96 18.0 78.0
133 |#RE =X 47 49 96 18.0 78.0
134 |[dhPH FEX 57 45 102 240 78.0
135 |fE[R ERER 48 48 96 18.0 78.0
136 (AT =5 45 50 95 16.8 78.2
137 |[#AFH i 48 47 95 16.8 78.2
138 |HZE R 42 47 89 10.8 78.2
139 |&REB E— 47 47 94 15.6 78.4
140 |BH RE 53 41 94 15.6 78.4
141 |HF B 50 50 100 21.6 78.4
142 |¥AE FER 40 47 87 8.4 78.6
143 (#HO E— 52 41 93 14.4 78.6
144 |[R# BE— 48 57 105 26.4 78.6
145 B #E 42 44 86 7.2 78.8
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146 |BEA B 49 55 104 25.2 78.8
147 |EZE A 52 46 98 19.2 78.8
148 |8 BZ 54 44 98 19.2 78.8
149 [FE £= 54 50 104 25.2 78.8
150 |RAK =HF 51 53 104 25.2 78.8
151 |B&E BT 52 52 104 25.2 78.8
152 |7 X 48 49 97 18.0 79.0
153 |R2 PE 45 46 91 12.0 79.0
154 |<H 1EF 45 46 91 12.0 79.0
155 |4 A#K 59 50 109 30.0 79.0
156 | K& 207 51 52 103 24.0 79.0
157 |/Mig E#E 46 51 97 18.0 79.0
158 |7 EHE 60 49 109 30.0 79.0
159 (HO EA 43 47 920 10.8 79.2
160 |XKEH M 49 47 96 16.8 79.2
161 |BF0O #FH 55 47 102 22.8 79.2
162 |=8F &3 43 46 89 9.6 79.4
163 |ATIF fh— 50 45 95 15.6 79.4
164 [IfE = 47 41 88 8.4 79.6
165 |FE L& 49 51 100 20.4 79.6
166 |(FSEE & 57 48 105 25.2 79.8
167 [/NA A 52 47 99 19.2 79.8
168 |HH FE 52 53 105 25.2 79.8
169 | RAR HBER 48 39 87 7.2 79.8
170 |KE #FA 56 55 111 31.2 79.8
171 [fEAR”K FN# 55 49 104 24.0 80.0
172 |BR RE 52 45 97 16.8 80.2
173 |luA H|/IE 53 50 103 22.8 80.2
174 | K% H 54 55 109 28.8 80.2
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175 |/NE =B 51 58 109 28.8 80.2
176 |H[R E#t 54 49 103 22.8 80.2
177 | T# #5 51 51 102 21.6 80.4
178 |HEK # 56 57 113 32.4 80.6
179 |/KHE fl+F 47 53 100 19.2 80.8
180 |BP4t E4E 48 50 98 16.8 81.2
181 |FERE 234 47 51 98 16.8 81.2
182 (#BH EA 51 47 98 16.8 81.2
183 |tH &E 54 48 102 20.4 81.6
184 |EH BX 59 61 120 38.4 81.6
185 |FERE SF 58 56 114 32.4 81.6
186 |FE ZF 53 49 102 20.4 81.6
187 |HLE B 53 54 107 25.2 81.8
188 |E& [&F] 52 55 107 252 81.8
189 | KIFE AR 55 57 112 30.0 82.0
190 |@JIl #= 45 54 99 16.8 82.2
191 |&§@ #— 55 56 111 28.8 82.2
192 |3 BE 45 45 90 7.2 82.8
193 |KE #ith 59 55 114 31.2 82.8
194 |EBR &7 53 45 98 14.4 83.6
195 |/ FRE 59 57 116 32.4 83.6
196 |i& & 50 59 109 25.2 83.8
197 |EHA F 54 49 103 18.0 85.0
198 (A% =5 59 49 108 22.8 85.2
199 | EH —F 49 60 109 22.8 86.2
200 |H:ZE FOth 69 61 130 432 86.8
201 |HR[E FF 59 55 114 26.4 87.6
202 2K EiE 57 50 107 19.2 87.8
203 |HEA flE 71 65 136 48.0 88.0
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204 |BfE £ 59 66 125 36.0 89.0
205 |RR BE 63 64 127 37.2 89.8
206 |l FE 65 69 134 39.6 94.4
BBE |JIIff &7 75 75 150 46.8 103.2
208 | X1 £1F 81 77 158 43.2 1148
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